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SFAF=E ot=2H EHI AL

OlXIS Ght==2t01 ZHISAHAIS)

[REXI AL ]

IFSAIE Al GF==2t H ZE AR

0l0l

i O &b o4 ﬁigj HDS2 2 I =
4171969  4727,095| 555126
3575430| 4565000 989,570
2876430 4,207,000 ~1,330570
=yl 2,876430| 4,207,000 A1,330,570
2796,650|  3,909792| ~1,113,142[401-01 (Al&HI)

721,430,000& X 90.85/100
(= 505,000)

(Al 150,420)

100,000,000& X 99.28/100

(& 30,000)

(Al 69,280)

50,000,000& X 14

655,420

99,280

50,000




B (200) RHEH KIS 5t (230) R E KHAHE S Mg (234) 252 (Er9): @2
f B
" 2 - 0l & 94 ﬁigj HDs2 I -
oF =2t = AHHI 50,000,000& X 14 = 50,000
ol =& 10,000& X 10,000m X 99.28/100 = 99,280
SHAANA =52 WX 400,000& X 500m X 99.28/100 = 198,560
AIJFXI=H His=&Hl &XISAt 2,500,000 X 6027 X 99.28/100 = 148,920
ez AZEE L B 5,000,000 X 209024 X 99.28/100 = 99,280
L =ol+=% &t 400,000& X 250m X 99.28/100 = 99,280
stac 2z B4 500,00020 X 30004 X 99.28/100 = 148920
ot & WA 200,000 X 30020 A~ = 60,000
FNENTA SSHOIS SH21 HUIA (HS)
2,000,000& X 175m X 99.28/100 = 347,480
OIS ot HHIZAH(AHIS) 1,000,000& X 200m X 99.28/100 = 198,560
SHE SH0IS 542 HUIZAHLQURA)
1,000,000& X 150m X 99.28/100 = 148,920
gDResegUAHE ST HHBAHDIR)
500,008 X 200m X 99.28/100 = 99,280




2 (200) K2R X = St (230) R KHALF S Higt: (234) =2 EEEE)
) 2
—— a - 0ff &+ o1 ﬁigj HDS2 IR S TR~
ZIIXIP HHSEHIEII2 A 2,500,000& X 200t = 50,000
Z)| MOIS222 ol E22AHLIR)
1,000,0002 X 150m X 99.28/100 = 148,920
HEZ O YAHIO~S T2 5T SBLTAHQIR)  200,0008 X 120m = 24,000
AR ANEE RXBS 50,000,000 X 14! X 99.10/100 = 49,550
MEZE RORE L =222 20,000,000& X 14 = 20,000
MEIRR I JIHAES 22 1,000,0009! X 141 = 1,000
61,470 279116  ~217,646)|401-02 (Zelbl)
[2XAN]
AZAIZH BH R H ALY 721,430,0002 X 8.52/100 = 61,470
18,310 18,092 218[401-03 (AI& S CHHI)
[EXALY]
HZAIZ=H SIS H B ALY 721,430,0002 X 0.63/100 = 4,540
OlXIS ot H HUIZ At 100,000,000 X 0.72/100 = 720
[ XERI AR ]




2 (200) HEE NI E 5 (230) RE TN S HE: (234) 752 CRIEED
it = Ol Ak ot dEE HDR=2 A = Il =
ol =4 10,000& X 10,000m X 0.72/100 = 720
BAAMGAL EE:ESE2 W 400,000& X 500m X 0.72/100 = 1,440
AIXIZ=81 Bl==&Hl EXI3SA 2,500,000& X 60Jt= X 0.72/100 = 1,080
22 2884 ¥ B 5,000,000& X 200HZ X 0.72/100 = 720
Lsot=% FH| 400,000& X 250m X 0.72/100 = 720
otk 21g E= 500,000& X 30074 X 0.72/100 = 1,080
IFENME Al £2t0tE ot=s=2tH EHBIALY
2,000,000& X 175m X 0.72/100 = 2,520
OtXI= ot==2tH ZHISA 1,000,000& X 200m X 0.72/100 = 1,440
== £20t2 o222 FHISAL 1,000,000 X 150m X 0.72/100 = 1,080
S~ LAl b5 HMSBA  500,000& X 200m X 0.72/100 = 720
S| MOS0 otk B3 A 1,000,000 X 150m X 0.72/100 = 1,080
AE2HZ N2 RAE=> 50,000,000& X 1Al X 0.90/100 = 450
235
JIAHEX 690,000 350,000 340,000
401
AMEHIZ 20 690,000 350,000 340,000




2 (200) XH2 X K| & 5H: (230) REXHAF S HIEt: (235)71 H & x| EEE-ED)
SR 01l & o A9= | Yoz & & =
25 K & = Oil &4
684,852 347,480 337,372|401-01 (AI£HI)
O stxelz
AMNKNE ATE ZA &3 50,000,0002! X 14l X 98.92/100 = 49,460
HEX Q4EI W (0HP, 20H) 70,000,0002! X 2CH X 99.28/100 = 138,992
SAI|E AaSAI] DA (15 /h, 10)
250,000,0002 X 1CH X 99.28/100 = 248,200
Stexel® SEMO PLC &Hl MH  250,000,00080 X 141 X 99.28/100 = 248,200
5148 2520 2628|401-03 (A& 0HHI)
O stxelz
AANKNE ATE ZA &5 50,000,0002 X 14l X 1.08/100 = 540
HEX Q4EI W (I0HP, 20H) 70,000,0002 X 2§ X 0.72/100 = 1,008
SAI|S AR DH (15 /h, 1TH)
250,000,0002 X 1CH X 0.72/100 = 1,800
St4Mel® SXAOl PLC &Hl @A 250,000,0002 X 141 X 0.72/100 = 1,800
237
2| PHIE 9,000 8,000 1,000




2 (200) X2 E X = & (230)RENAFS NIt (237)&0| 7412 CHe i )
AFOH — Hons A = =
SR = ! marer | 9 =
405
AAFESHIS 9,000 8,000 1,000
9,000 8,000 1,000 | 405-01 (XA SHI)
St=HMeld ZAIHNH |3aAHOE P 3,000,000& X 1CH = 3,000
HoE (M A 3,000,000& X 2CH = 6,000
290
JIEt R EX X & 378,493 0 378,493
291
HEYXZBHE 378,493 0 378,493
751
BrE =2 378,493 0 378,493
378,493 0 378,493 751-01 (2B X328ta2)
[ot=EE]
09BTL, 10BTL YUH2(ZDEXZ) 373,852,510& X 14 = 373,853
09BTL, 10BTL Y HES(2IEXZ20IAH) 4,639,860& X 14 = 4,640
800
:{Hs]s] 218,046 162,095 55,951
800
(: sl us] 218,046 162,095 55,951
801
:EslRs]! 218,046 162,095 55,951
O oflglyl 218,046,000& = 218,046




